7-3 Similar Triangles: Perimeter and Altitude

Name

1. If AABC ~AXYZ,AB=6,BC =10, AC =14, and XY =09.

What is the perimeter of AXYZ ?
2. If AABC ~AXYZ,AB=2,BC =5 AC=9,and XY =8.

What is the perimeter of AXYZ ?
3. AABC ~ AXYZ with AD being the altitude of AABCand XN being the

altitude of AXYZ . If AB=8, AD =10, BC =12, and YZ = 10, what is XN?
4.  AABC ~ ADEF . BG is a median of AABC, and EH is a median of ADEF .

If BC =30, BG =15, and EF = 15, what is EH?
5. ASTR ~ AXYZ . If the perimeter of ASTRis 38 with XY =6 and ST =12,

what is the perimeter of AXYZ ?
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6. Infigure 1 above, ABCD ~ AFDE,CD =12, FD =5, FE =4, and DE = 8.
What is the perimeter of ABCD ?

7. Infigure 2 above, ABCF ~ AADE , BC =24, FB =12, CF = 18, and DE = 21.
What is the perimeter of AADE ?

8. Infigure 3 above, AABC ~ AFGC , EDAH is a parallelogram, CG =7, CA = 6,
CB =10, and BA =11. What is the perimeter of AFGC ?



